
SAP ABAP table BIW_WAKP_S {Provider Structure for Promotion Data from WAKP}

BIW_WAKP_S

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

ARTNR [CHAR (18)]

MEBME [UNIT (3)]

SATNR [CHAR (18)]

MATKL [CHAR (9)]

AKTHE [CHAR (4)]

BEKTY [CHAR (4)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

WAEEK [CUKY (5)]

WAELA [CUKY (5)]

MEINS [UNIT (3)]

MELOG [UNIT (3)]

MEBPR [UNIT (3)]

MEAUF [UNIT (3)]

APSTP [CHAR (4)]

VREGE [CHAR (10)]

ABELN [CHAR (10)]

ABELP [NUMC (5)]

ETIAG [CHAR (18)]

BATNR [CHAR (18)]

EKERV [CHAR (2)]

AUKO

MANDT [CLNT (3)]

ABELN [CHAR (10)]

 BIW_WAKP_S-ABELN = AUKO-ABELN 
0..N

1

AUPO

MANDT [CLNT (3)]

ABELN [CHAR (10)]

ABELP [NUMC (5)]

 BIW_WAKP_S-ABELP = AUPO-ABELP 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 BIW_WAKP_S-ARTNR = MARA-MATNR 

0..N

1

 BIW_WAKP_S-BATNR = MARA-MATNR 0..N

1

 BIW_WAKP_S-SATNR = MARA-MATNR 

0..N

1

SVKO

MANDT [CLNT (3)]

SBELN [CHAR (10)]
 BIW_WAKP_S-VREGE = SVKO-SBELN 

1..N

{0,1}

T000

MANDT [CLNT (3)]

 BIW_WAKP_S-MANDT = T000-MANDT 
0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BIW_WAKP_S-MEAUF = T006-MSEHI 

0..N

0..N
 BIW_WAKP_S-MEBME = T006-MSEHI 

1..N

{0,1}
 BIW_WAKP_S-MEBPR = T006-MSEHI 0..N

1
 BIW_WAKP_S-MEINS = T006-MSEHI 

1..N

{0,1}
 BIW_WAKP_S-MELOG = T006-MSEHI 

0..N

1

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 BIW_WAKP_S-MATKL = T023-MATKL 

1..N

{0,1}

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)] BIW_WAKP_S-EKGRP = T024-EKGRP 0..N1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 BIW_WAKP_S-EKORG = T024E-EKORG 

0..N

1

T621

MANDT [CLNT (3)]

APSTP [CHAR (4)]

 BIW_WAKP_S-APSTP = T621-APSTP 

0..N

1

T626

MANDT [CLNT (3)]

AAVIT [CHAR (4)]

 BIW_WAKP_S-BEKTY = T626-AAVIT 

1..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BIW_WAKP_S-WAEEK = TCURC-WAERS 

0..N

1

 BIW_WAKP_S-WAELA = TCURC-WAERS 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 BIW_WAKP_S-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 BIW_WAKP_S-VTWEG = TVKOV-VTWEG 

0..N

1

TWAT

MANDT [CLNT (3)]

AKTHE [CHAR (4)]

 BIW_WAKP_S-AKTHE = TWAT-AKTHE 

0..N

{0,1}

TWEA

MANDT [CLNT (3)]

ARTGR [CHAR (18)]

 BIW_WAKP_S-ETIAG = TWEA-ARTGR 

0..N

{0,1}

TWEV

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

EKERV [CHAR (2)]

 BIW_WAKP_S-EKERV = TWEV-EKERV 

0..N

0..N

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 BIW_WAKP_S-AKTNR = WAKH-AKTNR 

0..N

1


